SDRER

FULL- SEMIAUTO

185U LERABER
Only for 18 years
of age or older

Civi.i22

TIREZAKES SN EEHIA B
Always read through this manual hefore operation.

= (T #BI RN FA S

BrULERARFAXZ[ELRER
Operation of this air gun for compefition use is restricted to users of 18years of age or older,

FEERH
Injury caution

EhBE BEEASS-60KER F M ONHERTRSHREZRITUAREGE.
Since plastic BB bullets reach 50 to 60 meters, careless shooting may cause eye damage or other injuries.

EERRRSETTH

Careful reading of
Handling cautions

an
Instruction ma nual

ERffzi ERCERREFHNETFHEERETAFNRGFESET
Always read through this HANDLING CAUTION AND INSTRUCTION MAMUAL carefully before operation.
Operate the air gun with full recognition of warnings and cautions.

FOR AGES:18 AND UP




Bt 5% E3 ACCUMULATOR AND CHARGER

18 B it ¥ A\ T HB 2§

Charger Z Insert the battery info the jack.
& b - J

PULLER
hi F

EE POST SAFETY

{7 B

PULLER BUTTON
RFMHE

=W F
et ~7 ; \ MAGAZINE MOUTH BUTTON

=2 X\ SEMI-AUTO SWITCH
2 BiELFERNG

A
S

! INE RELEASE BUTTON
{ P 37 ) 4

SPRING
BCCGER REBOUND
N BUTTON

.

BREALE

g wH

0O MUZZLE

= = == &3 CLEANING ROD

2 (RRS 5§ SAFETY

-~

. KEEP THE SAFETY AT "SAFE POSITION” WHEN THE
GUN IS UNUSED.

—

Z2EME CH T V=
SAFE POSITION SHOT POSITION

@ USE THEFIRSTFINGERTO \
PULL THE TRIGGER \}ﬁ -

A ERRIRI

NEVER PUT THE FINGER ON THE
TRIGGER BEFORE SHOOTING

| SHEFNNEFREMERN L




3 B INSTALL THE BATTERY

‘@ Press the puller button to unload down the pulier

BFERTHRFENHEHTRFE.
PULLERBUTTON
W ; B F 304
PULLER
hF

@ Load the full-charged battery
in to its position.
B iF B R B L

FE ittt A9 1IE i 38 A 77 [0)

Exactitude insert direction of the battery

.

® Fix onthe puller reversely to stepg
BHFi2 Q R EIRIER Elh%« P e

ﬁﬂmﬂwvm mr-
| T-hr*-mr Ll

_4 BE\IESXR SINGLE \RUNNING SHOOT

~ - | \ Never put finger on the trigger
e L . (O " when adjust the button

Running/single shot control button [} ISR RS T Is e iR

4 N
Single shoot position{ ® ) || Single shoot: the button point upward,

one bullet shoot out one time.
B Eizdrpeas{id FTENE IR ax—3%

BREE

a running shoot: the button point downward,
more bullets shoot out one time.

EE G ERAREEANE HENAESALNZ R

running shoot position{ ® ® )
EEAE >

2



5 RR\IFHIME INSTALL\DISASSEMBLE THE MAGAZINE

-

@ LOAD 6MM BB BLJLLETS-\H

6 PRESS THE MAGAZINE \\ f@ PUSH THE MAGAZINE INTO THE )

RELEASE BUTTONTO
RELEASE THE MAGAZINE.

i Ro s ik I B

INTO THE MAGAZINE.
Z= AN6MM bb3f.

GUN TILL A CLICK SOUND HEARD.
BEEHEACEEENE"EE —5E.

BEHEE

MAGAZINE
REIEASE BUTTON

N

® Adjust the parabola direction
with HOP-UP.

1 3d i 75 HOP UP i 75 §H
EREE LRV ES -0 a0

THE PARABOLA
REGULATE BUTTON

¥ 2% 38 77 58

@® The best position iswher “t'?bu

s obtained.

12457k T 75 (4 B9 5 2 88 75 15BB %&ﬁ

N =z W \ "

—————

TR 7a R B & oo

-&t* /" -‘\ﬁ
® Our company will not be responsible for .
trouble caused by using the bullet produced O“:_‘T_: . @AW T I/ iiiiiii
by other compan NN e e
¥ pany. BORE #f & J s
o E A3 EREE 2 BB = & GEAR
ﬁﬁqliﬁg;ﬁiﬁﬁ VALVE ;QT:@
® The bunglesome bb bulletis damage
with the gun. Please use the precision Bb3# A [
bb bullet of our THE ENTRANCE
company. (Procision ) [ Clumsy | OF BB BULLET
1% MBB® S 346 | BB bullet | | BB bullet e Tl
SEAEERE, ollOe
Iﬁﬁﬁzjﬁﬂ‘ﬁ_ﬁl E{] @.*ﬂ,
fr BB &%~ . O @ MOTOR
h : y 4 L’\._ _.-)




e —— e —

(r""_

@ Setsemi-auto switch in semi or auto position.

RBREXERTRERRNERME.

SINGLE SHOT RINNING SHOT

N

@ PUSH THE SAFETY TO THE TOP.
52 LHEED FiF.

N

@® PULLTHE T TRIGGERTO SHOT.
¥0 zh 3 A 5T &

) . %

N

ROLL THE COTTON ON i dmaEtah [
THE TOP OF THE STICK DAB THE MUZZLE

T1OMM s~ K £25-30MM R I & B F— i WITH THE COTTON STICK

2 75P%PE 3 EBB¥ REMOVE CLOGGEDBULLETS

@) Unload the magazine, insert rod into
the barrel as picture showing.

BERE M ERFWNERTAROMAA.

g '
@ REMOVE THE CLOGGED BULLETS.

75 B& BH 2E BYBBR3#.

@—:

LN ,

3 EBHLEIHRE ELECTRICALENGINEERING OF TINY ADJUST

S

%
ONLY WHEN THE MOTOR NOISEBECOMES HIGH
AFTER OPERATIONS FORALONG PERIOD OF TIME, =\
CONDUCT THE FINE ADJUSTMENTAS SHOWN. e COVER %F
EE AR EE K LR HRA SRS g ——> HEXAGON
iE % 40 B B o= & R WL 4T 1. ((("E(’g\ RING SPANNER
' :'_:...J N7~ BilRF 4




® THE COMPOSITION OF CM.122

i
RS
@2X4 PWBHO

&
m

OO~ PN =
& o0 50 f=f m B
<t e} g SO

K Bt b 85
0 B 1 55 3

L]

e .H-
@1.5X12.5 f£ &
M3X10KMHO
AT fE Bh 18

5 #,
Ni+EER
Hopup i T59"0 &
Hop up i ¥
M2X5 KMHO
BB th FE JEE FE

BB ith B =

BB ith EE R
@F2X5 KBHO

E K

ek

1% B 14

@2.3X5 PWBHO
26 HEhEIEFNH
27 BB ithEN 14

28 HE

29 £ &

30 R fE 14

31 @1.5X10 7& &k
32 B ELH
3I3EE

34 FHE

[ J. N N GAT YR SRR S W W S |
OO WN-20

]
—n

(R I L I e
n £ b

Puller
Rear sight *
@2X4 P

Barral cover

Inner barral
Hop-up rubber

Right hop-up base
Left hop-up base
Hop-up adjust
21.5X12.5 shaft
M3X10KMHO

Sliding handle driver
Trigger

Driving lever+clutch
Hop up "O" type rubber
Hop-up adjust button
M2X5 KMHO

Battery base

Battery cover

Battery base copper slice
@2X5 KBHO

Gun body

Gun tip

Safety

@2.3X5 PWBHO
Unload battery button
Battery release

Spring

Spring

Safety driver

21.5X10 shaft
Magazine button
Spring

Gun body release button

W\

38 EEEE

39 3X10KBHO
40 R FInH

41 £ 8

42 B EARERYEF
43 1R PR HL
44 EE

45 @F2X4 PWBHO
46 1#%8

47 FEEH

48 EEO'HE
49 @2X29 7 &t
50 @2X31.5 T4k
51 Jd R s

52 M2X8 KMHO
53 M2X5 KMHO
54 EML B

55 AMEKE

56 @4X4.5 TBHO
57 FIBT =

58 M2X6 KMHO
59 & F ik

60 BE=

61 BE WS

62 F3 3k

63 E®

64 Z M £ 44

65 Hks F1F

66 % &

67 M2X5KMHO

Spring

P2X25 shaft
Loading rear base
Spring

3X10 KBHO

Puller button

Spring

Outo-semi chager
Safety localized block
Spring

F2X4 PWBHO

Gear box

Loading sets

Q type ring

@2X29 shaft
@2X31.5shaft
Hop-up cover

M2X8 KMHO

M2X5 KMHO

Left grip cover

Right grip cover
P4X4.5 TBHO

Hand grip down cover
M2X6 KMHO
Magazine main body
Magazine cover
Magazine mouth cover
Lifting warhead
Spring

Left block

Right block

Spring

M2X5 KMHO




	1
	2
	3
	4
	5
	6

